Q#1 (a) Find resistance seen at terminals ‘a’ and ‘b’, Rap. (5 marks)
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(b) If the current through 3Q resistor is 2A, using current division, KCL and KVL, find the value of

Vs and I (3 marks)
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Q#2  (a) Identify the nodes and write nodal equations (5 marks)
(b) Find vy and i, using nodal equations. n (3 marks)
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Q#3  (a) Write mesh equations for the following circuit. (5 marks)
(b) Find power of 2A and 10V sources. Indicate if the power is absorbed or delivered. (3 marks)
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Q#4  (a) Use source transformation to reduce the following circuit as much as possible and find v from the

reduced circuit (4 marks)
(b) After finding v use the original circuit, given below, to find i. (2 marks)
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